R20K/R20B

Smart Flush-mounting Installation
AKUVOX intercom Quick Guide

Unpacking
Before you start using the device, please check the version you got and ensure that the following items
areincluded in the shipped box:

Universal Accessories:

[
R20K/R20B x 1 @ Wiring cover x 1 Sealing pressing plate x 1

()
<" Ropex1 Rubber Plugx 3 (S,M,L) [m M2.5x 6 crossheaad screw x 6

—o— Diode x 2

RJ45 coupler ethernet P Wall-mounting screw x 4
extension connector x 1 @ &

[__1 Name pad x 20(Only for R20B) @ Pry bar x 1(Only for R20B) ®II——IF=0 RJ45 cable x 1

Flush-mounting Accessories :

o
’Em-, Flush-mounting box x 1 (&) [ M4x15 torx head screw x 2 -:j Torxwrench x 1

=8 Plastic wall anchor x 4 Flush-mounting bracket x 1 @ - scTéﬁ())(irosshead

Product Overview s o
85.0mm 83.0mm
- ) |«
A Fixing Blo A { }—B Fixing Blocks ol
e
@ 8

+— Ethernet Port

185.0mm

224.0mm
204.2mm
|
|

A Fixing Blocks

B Fixing BIOCKS;{

= J C J
R20K/R20B Back View Ftush—mountmg‘Box Front View

o O

R20K/R20B Bottom View Flush-mounting Box Bottom View

40.0mm

24.0mm




S
AKuvox In{g?com

Installation Environment

Please do not place device under direct sunlight.
If installing the device indoors, please keep device at least 2 meters away from light, and at least 3 meters away from

window and door.

‘a X . X v X X
x 8- @ "o i A
] il .,
Backlight Direct sunlight Direct sun Indirect sunlight Clc;se to Iigrht
through window through window
Installation
Flush Mounting
Step1: Bracket/Box Installation
1. Normal Installation
89.0mm
— T
Q.
S
il o —
5 » »
2 Q-
o]
Cut a rectangular hole on the wall Insert the flush-mounting box into Mark the four holes of the \
flush-mounting box on the wall.

(height*wide*depth=207*89*40mm) the hole.
that can accommodate all the cables.

S —

Insert four plastic wall anchors into  Take down the flush-mounting box, then
the holes you drilled before. Fix the  drill (6mm drill bit required) the four
flush-mounting box with four marked fixing holes on the wall with a

ST4x20 crosshead screws. depth of 25mm.

2

Flush-mounting box installation is
completed.




R20K/R20B

Flush-mounting Installation
Quick Guide

2. Or you can choose another simple method without fixing ST4x20
crosshead screws.

89.0mm
\
| | =
£
S
| NG
S| E
£
e »
o
<
Cut a rectangular hole on the wall Use cement or non-corrosive structural Finish the flush-mounting
(huei aht?\f/iZeg(L;ea thS;Og*SQ*iOr:m) adhesives to fill the gap between the wall box installation.
thatgcan accomrﬁodate all the cables and flush-mounting box. Wait for the
) adhesive material to dry, then go to the next

step.

Waterproof Tips

+ For flush mounting installation, it is recommended to fill the gaps around
the embedded box for waterproofing (to prevent water from entering the
back cover of the door phone from the gap).

« Or it is recommended to use rain cover.

Step2: Flush-mounting Bracket Installation

Combine the device with the Tighten the device onto the Flush-mounting bracket
flush-mounting bracket according to flush-mounting bracket with four installation is completed.
the direction indicated in the drawing. wall-mounting screws.

3




R20K/R20B

Smart Flush-mounting Installation
AKUVOX intercom Quick Guide

Step3: Wiring Cover Installation

»
Make cables go through the wiring cover,
connecting to the corresponding interfaces of the
main board. Select a suitable size rubber plug to
For convenient wiring, hang R20K/R20B on push all the cables into the wiring cover. Fix
the flush-mounting box with rope. sealing pressing plate to the wiring cover with

two M2.5x6 crosshead screws.

Note: In the case of one network cable or less than 6 signal
cables, use S-size rubber plugs. In the case of 7 to 10
signal cables, use M-size rubber plugs. When there are
more than 11 signal cables, please use L-size wiring rubber
plug.

»
/ / 7 |
¢ T—
Fasten the wiring cover with Install the device on the flush-mounting Installation completed, please
four M2.5x6 screws. bracket using two M4x15 torx head remove the protective film.

Screws.

4



R20K/R20B
Smart Flush-mounting Installation

AKUVOX intercom Quick Guide

Wire Length & AWG Table

Please follow the properly measured wire gauge/length to install device:

20 AWG 22 AWG 24 AWG 26 AWG
12V 1A Adapter <50m <40m <20m \
NOTICE:
Quick guide can be viewed on Global Visions website.
#iGlobal Visions

GLOBAL VISIONS INC.
877-725-8869

v gopalisionsin com VLA
5 Y¥S$20000073


https://www.globalvisionsinc.com

